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38,750,390 36,745,894 2,004,496
200 M2l +=¢ 4,272,310 3,742,331 529,979
210 & HAN 2= 3,890, 127 3,360, 148 529,979
TH A O == 2 33 33 0
1-02 SR M &S 33 33 0
SAAMGA > 33 33 0

ONSTAEH(EX) & 33,550 13l 33
INE=F=agel 3,813,094 3,283,115 529,979
2-03 St=AER 3,813,094 3,283,115 529,979
SIAMG A > 3,813,094 3,283,115 529,979

Oa=&& o= 3,553,814

e 4643 x4,738,565& 2,198,694

RIS 950& %1,210,172& 1,149,663

Hses 655& x46,500= 30,457

MHE 5373 x325,885& 175,000

OXdt+=2 ot=Z A8 259,280

e 4643 =42 179 19,571

ERlE= 9503 %143,335& 136, 168

Hses 6553 %60, 949= 39,921

MHE 5373 *118,474& 63,620
6 Ol Xt==2 77,000 77,000 0
216-01 23030l 77,000 77,000 0
SEAH A > 77,000 77,000 0

O330=0IXt= 7,000,000,000& *1.1% 77,000
220 A FHAN2 = 59,598 59,598 0
221 THAHOH 2 == 2 1,000 1,000 0
221-04 = E3 M= 1,000 1,000 0
SIAMG A > 1,000 1,000 0

O=EMH2US 1,000
JlEt==g 1,000 1,000 0
224-07 12 =+¢ 1,000 1,000 0
BEAH A > 1,000 1,000 0

OJIEt&E =2 (A 1,000
At &gl 57,598 57,598 0
22501 AittE &= 57,598 57,598 0




g 200 Mel+=¢
2 220 LAIEA >
gt 225 XE &9 (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
< EEAMEA > 57,598 57,598 0
OMEE M2 2,879,920,260& *2% 57,598
230 NLHHMM - 2= 322,585 322,585 0
236 RE= 322,585 322,585 0
236-01 2= 322,585 322,585 0
< BAMEA > 322,585 322,585 0
OS3o+=ZAANRLEI = - 8F) 1,290, 340& »250& 322,585
500 EX3 13,647,080 23,623,563 A9,976,483
510 =0 E2X=S 12,629,080 23,623,563 A~ 10,994,483
511 =108x38 12,629,080 23,623,563 N~ 10,994,483
511-01 =18 xS 11,685,460 23,210,000 A 11,524,540
< BAMGA > 11,685,460 23,210,000 A 11,524,540
Ogd AGEGH=HM2E At 2,037,000
OLUI| OtSot=HMelAlE HEAS 140,000
OLZE OtSot=HMlAlE HEAS 300,000
Obld OtSot=HMlAlE HEAS 428,000
Odt=HMZlAlE EHZ ZXAY 363,000
28 33ot=XMelAE B XA 121,000
€3 S3ot=HMalAld B EXAS 60,500
ot S3ot=XMalAlE B EX A 60,500
g3ot=Held B XA 121,000
OgdXel=4 ot=22 U A 1,156,460
Ootg IS X7 ot==22 HHAY 1,175,000
O&tU X7 ote=22 HHIAY 3,922,000
g8 = ot=22 LM 610,000
23 LPrMAC] FH 22 A4 1,237,000
O (3cH) st=22 HHIAMY 317,000
511-03 J132 943,620 413,563 530,057
< BAIAMGA > 943,620 413,563 530,057
O2s - dEdt=HelANd JISEXS 431,620
O&UX 7 ot=22 HHIALY 512,000
520 Al - SHIEEXZ=S 1,018,000 0 1,018,000
521 Al - EHIEEXZS S 1,018,000 0 1,018,000
521-01 Al - SHIEEXZ2 S 1,018,000 0 1,018,000




09 i 0

500 Ex=
520 Al - SHIE X
EN

521 Al - &=HIE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2

< EEAMEA > 1,018,000 0 1,018,000
Og&d AOEStsX2E ALY 1,018,000

700 EX=ASHUEANH 20,831,000 9,380,000 11,451,000

710 284S 231,000 400,000 A 169,000

711 A= 231,000 400,000 A 169,000

711-01 =MAHLAH=2 231,000 400,000 A 169,000

< BAMGA > 231,000 400,000 169,000
O=MALAHS 231,000

720 LH 2 A ch 20,600,000 8,980,000 11,620,000

721 8= 20,600,000 8,980,000 11,620,000

721-03 JIEI2I A A L = 20,600,000 8,980,000 11,620,000

< BAMGA > 20,600,000 8,980,000 11,620,000
OgtsA dY= 20,600,000




